CAZN EhX

TAERERARERX

BRARIE =%

2222222



MEFE RFE=BK

IEERERSHHEFBRSMEZBEEIK, 65%U LAY
FEERISHIESN, FrmIZ R THUEIE, EEM,
UK, ERgE, BHUZEH, B, NBRA, 8K
W, BERRE, BENM, EIREER, T,
AN, YRIRE, BTHIE, A, #EERERE
e




RINTERBSBRABR—REWEF TANEREREA
Ry, ERSHEAREW. AR T2009F R, Q7
HOFE SR RBRARIESERS, RARERRRS, BiKERESE, SPNE
$ERR, BUMZESRZOEM/0DMLSS, AR P EiEE Tl AER:

R

"

ZYZENER, MR~ R, FEN~RERRSH
MM EREZT KEFARIE, EXAZE, T4 0fKIR
BT, Ef~mIZRATRELRR, 5%, SREHE, &
RECIR, HReHEFE, BEERAERIEESRTRAE.
AFINERIEIT 1509001 RINIER E1TOSEER S §, BHMR

P& f R E .

NEBHENEELESE, AERETERHHFRIHE
ARt R RMEIESHEERE. “FLEEIMEFE—
e B, “EsmR, EBRRS” BREEIRMAT
REFRS .

L 10
M8 - 13
MO -~ 24
M12- 28
M4 53
M6 57
M23 - 63



S8R S5
EpAEREEFAMAIRS

BIVETAGRR——MNE IS8, TENERERRA
ElRSE—IEFP. TANERE, 24/)08EARS,
HMBARIRIER, REBNHTIEE, FIHIIX
FEril, E—MEFREITESEE, INRERENEKX.

ESERMEL~ R, NFTEREEI TERSNERE,

HiBAR S -

TREFAFESREE, MRARLR
EEMRS, RINERBRSEBUARTF A
i, U “EEmR, EERS ARE.
REFFRESIRETR. mMA RIS BFN
AR 35

ELHB R —

E&FREREREEEN. RMNER,
=BT 2000 MIERKEBE S =M, BEF
HEVAMES A, EJUNELZE RS
BERIEXTRER, UEASH. R
TEFREXER. RERR—SBAUT
EHIEMA - mPDFAS MG B 30
EBIMLE . www. caznl ink. com

MBI BIEIR, 3R 2BTNMERK
HIX4iES. ERBRSSRHMEHE, 58—
ENZHEMANERAR. ARE. ~a@
RHEM.

MEAKXS : caznlink




HIr R

H
oxr
[
\]
&
(@)
O
(@)
=
S
e
MR

FE2WAI A EIA

IERE S MERERRIM A

ToERER FER A TAZIMHE X,
HRMIMA2LG .

STEVoA: e g oa e
MNEEMI. A3, B, SEEBRRN, #HRWFkH
B R EFEIRE, RESREAR, KT
REVZEK.

SERMNE~AR

REFUERIE~ M IE—NIF
BN B FEERER

BEE W SSEiRIBc, llE S~ ASRRREK, AREY
FTENRENEIN. ERREFHIGER, TE—#ER

BB E = A B




SE3]

&
-

53

=

{RIAREEHL

Mg, BRI, FARE
HUERARNBAEAR, HEHEBL.
SRS R R EER KM AR,
EERESIFLEIMI2 A, D, X, S,
TRAIGM7, M23ZFI5H B &M
IBEHAIEK.

Tk FE#L

PIEKRA 1 0TAY A& R AR 1t T Tl 4B #1
RIBRA R, Tl 87 Tl %l
&, YRITI % 2R E L.
LB RBENEmEK,
IE AR FF & BIM1 2 H2 88 BB 4P R RRIR
T T AEHLAYERE

ERRESHNES. BiE. shhffmEReS

M %

FEERIFLFIA, NOLkBER
LEBEMRELR. EMFLR
M12[) 4% 3% 45 88 X MIL-C-5015 &%)
RRABERFR, HEFBRRHLE
B R P48 45 ) o



N

REJVEX AN TAE. KBS
AR T ARBR SR, XE5IR
LBEKEZ. BRERZ%. KRERLEX
NZ&RIZER.

CAZN tERX

RENMHCEERRARRITSHIE

Tk4.0

T4 0FZ2 T MR, T
LMK, RELENEE ZNHA
FIGIIRZ, TEERBRLENE.

BEWT

BEHTHER, XBEEL. BUE
X&, AR LEESRESN
2R XERES, MkEEEEsSs




NI 4R

|O-linkiZEF&F AR

FOECEERIZOAE T MRSz, WETERESR
Lo TR H LUK B iR S R 5 S FMBIEIRIE TR E
X, EAATEHARRE, TWIMNENBAXTERESE. &
ERRURIZERE TS HBOER, ERBS~mE
KEBEHT BRIAED ERAINE 2L MILFIT B L thil

=r O
I ono

RYFmBE THREN, MRS, FIREE. PCBIR
NEZIMLBENEHTENREBRAT R,




SErcos

the automation bus

Etheri'et/IP -

10— inkiEIEF AR REE



EZESIHN

EERNAN RS A B ER

EMAA: ERFEAEAMGEERERBATARITS
R EHRHIITHRE,

25T ERE IRIRERE
B B4TEIERIE S RIB 45T iR T B AT R DAY R B [BEEET U SKIR SR B SR FIENIERE, 1
53k. {KIEDIN/EN 60999/VDE 0609FRAERITHY . A LA EIERS SENRI B BEIREE . (& s A0 a9t

FIZESEDIN EN 60068552-20ER 5 11 .

B EANSEAEEEr, TREANIE, MG

BRAERFE S .
B ERATHILLEE, ENRIBEER L, BIEFERE,
i EES.
BIURT s M3 M3. 5 .
H1%E (Ncm) 40 50 60
EREER

B FEEEREREETESSEMSHRETYIER
RNEE—RIEZEAN, B—MATREABEER
Fi. EREKRKIEDIN IEC 603528852884

B TEATISES, RS, EEEEANES.

1000 A=THER
A=Acceptable

500 B=R#%
400 VT A B=unacceptable

300 T
=200 i
/

)

e
50 AA
i p

20 //,

—
o
o

SRR B/

Minimum tensile strength /

0.05 0.1 0.2 0.5 1015 25 4.06.010.0
BASLHME MM’ Maximum conductor size mm?




BRIk F

Tl BA R A | PRE 7K R 3

EfERR RSN, WMEARBINR B EEESRAESE
HREINRIMERM, tamd, FHY. BS. RE.
KEEE . RAE, MFHEREFHINER.

THEMPFR—REHR

FEKE B F BT
| BB BRI BE kIR
| |
IP 6 8
| |
¥ 1RIP3EE ¥ 1RIP3EE
0 TRE[HF: FTEMIRF, THERRMRP. 0 TeREKARIF
1 BEARHEIRIF: B FEBAREARIER, [FLEEREKXT50mmEI S, 1 BEEkRIP: B EEEERIKE.
2 BEREXR/NEIRIF: FFIEFIEEM, BHLEERAXT12 5mmid S, 2 rll}_ﬂtﬁfﬁﬂr;‘%?kﬁ*)ﬁ: B RRLEERKE (EEE@EI15° LINMEER
&) o
3 BENEEMRIP: BT E, REFERKT2 smfII0RER, [ 3 Bl RIF: BHIESREEE®O UREERAERIEK.

WEERKXTF2. 5mmi F4.

4 B FROR SR F : BISTHATIA, B RAIEZEART 1m. 4 Bk R : BhLESR B &N EAITHK .
5 B R LARGREF : BIIEHERR, BIIEAIER R4 5 Br5H K RdF: B LESR B EE A B AR HIK (1) .
6 FiRLHNGRE: SHEPTILHEERM, BFEREHN. 6 B SR ZUBIK R By L BT,

7 B5i27KAREP: BB R R K

8 BHEKIRS: By LEACRTIE)E SRR I E K HEN o




1T 52|

B P ES RSN

N
|
|
|0
I~
|
}_\
|70
<<
|
(%]

RS series): ——————— L R#&(shield):

M5, M8, M9\ M12, M16, M623, M923, 7/8% s AR

M5, M8. M9, M12, M16. M623. M923. 7/8.ect 5"‘29&}’?‘:@
-S: Shielded

Empty: Unshielded

/B (Male & Female):
P:§+E! S: 7B

P: Male type S: Female type ————— £k %f(Cable material):
PV:PVC
. PU: B & TPUFAPUR(TP PUR
Kéﬂl(Comacts number): TF-ggﬁ(P*TFE) (TPU and PUR)
2, 3, 4, 5, 6, 7, 8, 12, 14, 16, 17, 19, 21, 24% PE:PE

20 304050 6. 7. 8. 12, 14, 16. 17, 19, 21, 24 ect

24 (Cable length) :

OB S (Code): BLON g 281z
A. B, C. D\ K. L. M\ S\, T, Y. XZ& In (M) meters

A, B. C. D. K{ Lo M{ SO TL YL Xeect

EABH 4 O 5HRimiZ O -

4 B (Material quality): (Tail outlet & Board and screw threaded):
G: & BIHEE /43K (Metal socket/plug) 08: ¢ 8mm
P : ¥R 47 B / 48 3Kk (Plastic socket/plug) P7:PG7
M: REZ B F#F Sk (Molded plug) M12:M12
...... =

$35E2% 75 7 (Connection) :
W: JB 35 (Welding)
BE ?ﬂ??;(lnsemon
S: A (svT
L3 i?%T(Screw
C r?%(Cnmpmg

1B ¥L(Through-hole)

ZEF4)(Structure) ;

A: B3 HSK (Straight plug)

D: T L (Angle plug/Right angle plug)

B: *ﬁﬁﬁﬁﬁ?ﬁ@ Installation socket in front of the board)
F: & "t?ﬂil’;@ (Installing sockets behind the board)

H: FREZ ?B—EF:E (Square flange socket)

L : ZEHEEE (Curved pin socket)

S: M 5 =037 B (SMD socket)

0: #&umE PR #E Sk (Terminal resistor plug)

9| ONMN



M5%5Y

FRSE: 3. 4%

ik HHRAKEERES

fREE: RATRE MERERLRPCBIR
K& : 1P65 IP67

FRAFAIEC 61076-2-1054R

mSE
PN ZE S HiRER EALFE <3mQ
LAEILIE S HEMBE/1RER RRRE >500;%
fwEH R HRES/ BRES BEMEH =100MQ
B PA66 ERRE -25°C ~ +85°C
i Zp ot TPU/PVC

Caznlink.com (10



5 BIR/RES

BB R . 26
o
=<

M5 S_?‘L-MWA-TPV ©
TE (M) | S
34 1M |PV:PVC
2.5:2.5M |PU:PU
...... TF S5
PE:PE
B AESL
M5 P_?-MWA-% PV
TE: (M) B
34 1M |PV:PVC
2.5:2.5M |PU:PU
...... TF S5
PE:PE
T AR R ERSK
M5 S_?f- MWD - ]( PV
T Z(M): |Loth
34 1M |PV:PVC
2.5:2.5M |PU:PU
. TF AR
PE:PE
B ap G
MS-P_?\;-MWD _}PV
T Z(M): |Loth
34 1M |PV:PVC
2.5:2.5M |PU:PU
. TF A
PE:PE

R BT R EE BUREE 1245 s25FM5%0.5

M5 -P 3 - GWB M5

FHRYT

Y i “ -1
;[ 1 LS
12
RET S FL B E Je =t FART
M5 - S 3 - GWB M5 . gfﬂ . -
L‘éﬁl} . ° QL é N 8,7
11.5
R A 25 7L BE =t FART
M5 - S 3 - GPB M5 . gm o -
L‘éﬁl} . ° gi N g,f
RJE T a=  BUR E = FART
M5 - P 3 - GWF M5 {ww‘w—‘ . 1
Illllﬂllllllfﬂ!ﬂllllﬂllﬂlﬂlﬂﬂ! 1 {0

11

CAZN



BIR/RES

R IE RHEE BUREE it ) FARY

®

M5 - P 3 - GPF M5

?5.1

B
34

WRIE R FLBUREE 242t ) FARY

(O

M5 -S 3 - GWF M7

M7x0.75
®87.1

B
34

WRJE LR B RE fminst ) FURY

M5 -S 3 - GPF M7

M7x0.75

BEC
34

M5-B55#

4 3
4 @ 1A 60V 60V 26 014 oo
O O
1 2 = L

M5 - {2 AR VBV E

M5 -3 Z24%E X

HRATEXIREMRE, MRMNEE BB RIS,

CAZN (12



M8F 5

FERiE: 3. 4. 5. 6, 8%
REBIIERERE360° 2 R

fEsk: ARR, FEFESX (KEUEERES)
B IRATRE. RELEBRLERPCBIRT
BhkE: IP65, IP67

P RAFEIEC 61076-2-104FR 4

FFmZE
R HESER/ARER
BHMR HEMBE /IR
Tt B/ BRES
BRI PA66
R BT TPU/PVC

131 Caznlink.com

RARFE
THRIRE
B

ERRE

<5mQ
>500)%
=>100MQ

-25°C ~ +80°C



BERXAREEARLEL gt

M8 - S 3A - GLA P7

R
A:3A 4A

R<H

P BIR/KES

BERX R EEARLEL gt

M8 - P 3A - GLAP7

R
A:3A 4A

BB BRARAHL a0t

M8 - S 3A - PWA 05

A 3A4A
6A 8A

B: 5B

D: 4D

Max.85

BB BRARAHRL st

M8 - P 3A - PWA 05

A:3A4A
6A 8A

B: 5B

D: 4D

012

Max.$5

~46.5

:SWH “SW10.5

EXNABRBRARAHL gt

M8 - S3A-PLA 05 - GM

R
A:3A 4A

40~45

812

M8x1

BB BRARAAL gt

M8 - P 3A-PLAO5 - GM

R
A:3A 4A

46~50

M8x 1

s

EXNABRBRARAHL gt

M8 - S 3A - PLA 05

R
A:3A 4A

4245

212
M8x1

-

BB BRARAARL gt

M8 - P 3A - PLAO5

R
A:3A 4A

46~49

212




7 mE BIR/KES

AR BRARAHEL gt

M8 - S 3A - PLD 05

~27.5

TR BRARAARL gt

M8 - P 3A - PLD 05

~27.5

Mox ¢5 ‘

~40

R

R ERILRAEIEL 96.9

M8 -S3A-MWA-1PV-S

pis-'@ (M) (% S: R
A: 3A4A TIM PV:IPVC  |=:3ERH
6A 8A 2.5:2.5M |PU:PU

B: 58 TR E|
D: 4D PE:PE

FERBR

R BRX AR EERSL mean

M8 -S3A-MWA-1PV-S-AM

P @ (M) (% S: R
A: 3A4A TIM PV:IPVC  |=:3ERH
6A 8A 2.5:2.5M |PU:PU

B: 58 TR E|
D: 4D PE:PE

10

BN FLB R EEL Lepx 36.5

M8 - S 3A-MWA - 1PV - LP2

T EA(M): (47 bIE-#
A:3A 4A 1M PV:PVC  [LP2: 2XTPNP
2.5:2.5M |PU:PU LN2: 2XTNPN

TF:E5EA2{LP3 : 3XTPNP
PE:PE  |LN3: 3XTNPN

BERXFLB R BUESL wmen

M8 - S 3A- MWA - 1 PV - KC T

29
®5.7

L& 1
PV:PVC ]
PU:PU

TF2R5m1|
PE:PE 30

§

FERBAR

R ER R RGNS 414

M8-P3A-MWA-1PV-5S

pis-'@ (M) (% S: R
A: 3A4A TIM PV:IPVC  |=:3ERH
6A 8A 2.5:2.5M |PU:PU

B: 58 TR E|
D: 4D PE:PE

FERBAR

R BB emnn

M8 -P3A-MWA-1PV-S-GK

T HK(M): &4 S: R
A:3A 4A 1M PV:IPVC  |=:3ERH
B: 5B 2.5:2.5M |PU:PU

TR E|
PE:PE

15| COAZN



mE BIR/RES RYHE
ﬂEﬁtﬁix 41.5
PR B EMEEL mex ’
M8-P3A-MWA-1PV-S-AM
L ERUBECENEE S 5 [ g
A:3A4A 1M PV:PVC |2 R =
6A 8A 2.5:2.5M |PU:PU -
B: 58 TR E|
D: 4D PE:PE
BB AAESL o A4
I LEDZR
M8 - P 3A-MWA -1PV-LP2
HK(M): &4 T g
1M PV:PVC  |LP2: 24TPNP
2.5:2.5M [PUIPU  [LN2: 2XTNPN
TF:E5EA2{LP3 : 3XTPNP
PE:PE  |LN3: 3XTNPN
BB AR RSL wE
M8 - P 3A - MWA -1 PV - KC o
gl g ||| =N 3
T HK(M): &4
A:3A 4A 1M PV:PVC
B: 5B 2.5:2.5M |PU:PU
TR E|
HEIE 32.45
R 35.3
AR SHA B EREL
M8-S3A-MWD-1PV-5S
T (M) |Gt S: R
A: 3A4A 1M PV:PVC = 3R
6A 8A 2.5:2.5M |PU:PU
B:SB | e TR A
D: 4D PE:PE
ERBER
PR BB AR AL
M8-P3A-MWD-1PV-S
T Lt (M): |Gt S: R
A: 3A4A 1M PV:PVC = 3R
6A 8A 2.5:2.5M |PU:PU
B:5B | e TR A
D: 4D PE:PE
ERBER
PR SXHBENEEL 2r0%
M8-P3A-MWD-1PV-S-GK
T SRR
A:3A 4A 2RI
B: 5B
SRR 435
PR — P ZFL B R RERSL
M8-S3A-MWA-1PV-S-1T2
T ZEM): %4 [SRE& @| 8
Al 3A 4A 1M PV:PVC  |=:3ERR o g
6A BA 2.5:2.5M [PU:PU =
B: 5B e [TEEER S @ 8
PE:PE |
BB
FFHGR 48.5

— > ST BUpR B SL

M8-P3A-MWA-1PV-S-1T2

R (M)
A:3A 4A 1M

6A 8A 2.5:2.5M
B: 5B

Lt S: R
PV:IPVC  |=:3ERH
PU:PU
TR E|

PE:PE

AZN

16



=& BR/HEES R~HE
R AT R BUREE 545 27FM8x0.5
FHRY
M8 - P 3A - GWB M8 )
[aN] N ~—
T 2% O [se)
A: 3A4A — = =
6A BA
B: 5B
D: 4D ‘ 72
R AR5 B EE it 27 M8x0.5 FARY
M8 - P 3A - GPB M8 N —
- [oe)
T - <
A: 3A4A
6A BA
B:5B 7.2
D: 4D
RAT R L BMREE 12450 27FMex0.5 £/& O3 FARY
M8 - P 3A - GWB M8 - GK ~ _T
= [oe)
T - a
A 3A 4A
B: 5B 79
RATR S BURIE et S Mex05 2B 0% FARY
M8 - P 3A - GPB M8 - GK N _T
- [oe)
o - a
A 3A 4A
B: 5B 79
R BT REFLEMR R 19450 s2FM8x0.5 FARY
M8 - S 3A - GWB M8 ~| o] X S -
— o@ﬁ ee) x o]
i ﬁ = 2y -
A: 3A4A
6A BA
B:5B ‘ 7.2
D: 4D " 55
WRAT R EFLELR R st 4257 MB10.5 . FRRT
M8 - S 3A - GPB M8 o o 2T of -
—| o| o = oo
[iE-8 —| = = © S
A: 3A4A
6A BA
B: 5B ‘ 7.2
D: 4D 1 55
RAT R EEFLEMREE 12450 27FMex0.5 TiA FARY
M8 - S 3A - GWB M8 - ZD -
- o0
T IS
A: 3A4A
6A BA
B: 5B 7.2
D: 4D
1R 5 25 £ BUAR BE J2 2=t 25 Mex] FART
M8 - P 3A - GWF M8 < NP S -
T 2 =8 <
A: 3A4A 1
6A BA
B: 5B 7.2
D: 4D 17.8

17

OAZN




R 3 L2 5 B BE st 25 Mex) FARY
M8 - P 3A - GPF M8 ;’ —
00
B = e
A: 3A4A
7.2
17.8
e R I BIREE 1245 2FMex BN LR
M8 - P 3A - GWF M8 - GK > - -
A:3A E—
7.2
17.8
R R B EE st 25 Mea 2E O FARY
M8 - P 3A - GPF M8 - GK ] -
% o0
0
T = O 1S
A:3A
‘ 7.2
17.5
RE R I BREE 54550 2FM110 FART
M8 - P 3A - GWF M11
A: 3A4A
$10.1
FFILRS
R /5 R BUREE st ©FM11x
M8 - P 3A - GPF M11
T =
A: 3A4A
101
RER IR BREE 154550 s2FM1 10 FART
M8 - S 3A - GWF M11 ]
A 3A4A
$10.1
g R FLBMEEE miat 25M11x0 FARY
M8 - S 3A - GPF M11 ]
A 3A4A
‘ $10.1
RER IR BREE 154550 s2FM120 FARY
M8 - S 3A - GWF M12 - TW T
X% Lo < ~
TH: o © = 3 s
A:3A4A = ]mmm
155 | 0101




BIR/KES

G R EEFLBMEEE miat 25 M1

M8 - S 3A - GPF M12

EC

A:3A4A
6A 8A

B: 5B

D: 4D

M12X1

R<H

MBX 1
|

==
.

FIR

$12.1 ‘

810.1

3 RS B EE w1t 2 5Mex iR

M8 - P 3A - GPF M8 - JD

EC

A:3A4A
6A 8A

B: 5B

D: 4D

FIR

98.1

R 5 2L B BE 5t 25 M10x0.75 Hitb2n

M8 - S 3A - GPF M10 - JD

EC

A:3A4A
6A 8A

B: 5B

D: 4D

M10X0.75

TEERERE iinst 27Mex Bt

M8 - P 3A - GPL M8

EC

A:3A4A
6A 8A

B: 5B

D: 4D

53 Epoxy

B 1
15.35
6.3
GJ_&)

3,

TEHFLBMERRE st 8M10x0.75 3R

M8 - S 3A - GPLM10

EC

A:3A4A
6A 8A

B: 5B

D: 4D

. M10X0.75

910.1

TEERERE iminst 27Mex B

M8 - P 4A - PTL M8

R
A:3A 4A

4.5
3

TEHFLBERE i5inst 25 Mex BpE

M8 - S 4A - PTL M8

R
A:3A 4A

g

EHFLBEEE iRzt 2 M10x0.75 28 IRiER

M8 - S 5B - PPL M10 - KK

_M10%0.75

19

CAZN




oo BIR/IERS
YEUBRAEES posa
M8 - P 4A - SS 4A - YSCNY T
1]
e =
A:3A 4A 6A
B: 5B
48.2
THYEHEES pssa 0 ©)
o L ] *] °
M8 - S 4A - PS 4A - TSCNY Nggl (cren] g
2
pis- @ e
A:3A 4A 6A
B: 5B
HESH
210

T BYEEHESE porl i25FM11x] 2B

M8 - P 4A - S 4A - IGASN

R
A:3A 4A
D: 5D

9111

T BUEEIRES por) B

M8 - P 4A - S 4A - ISCNY

R
A:3A4A

6A 8A
B: 5B

810

FLEUBR IR 4R i Sk 1200

M8 - S 4A - MWO - 120

H FEHUQ):

Al 3A4A 120:1200Q
6A 8A

B: 5B

36.5

HEIRIB A imHESL 1200

M8 - P 4A - MWO - 120

FBH7(Q):
120:1200Q

COAZN

20



M8 -l i =\ EEEo 4

RN B TR EE
M8 - P 3A - PSS [
<™
A: 3A4A
6A BA
B: 5B
D: 4D
LB 7 TUAR R
M8 - S 3A - PSS
T
A: 3A4A
6A BA
B: 5B
D: 4D
AT RS RIS RETRFEFL RIS
125FM10 H2FM10
M8-PGBM10 M8-SGBM10
M8-frd s
M8 BB = WIF M8 £&EMAE NF
KRER 1T8ES KRER 1T58S
& 7.5mm M8P-TV5P-7.5 ¢ 8mm M8G-TV1P-8
& 10mm M8G-TV1P-10
M8 BB E ShF M8 £2EEMLE I F
KHRER 1T8S KRER 1T8S
¢ 7.5mm M8P-TV55-7.5 ¢ 8mm M8G-TV15-8
& 10mm M8G-TV1S-10
M8 BB E ShF
KHRER 1T5S
b M8 M8P-TV6S

21| OAZN



M8 BS54

3 1@3 3A 60V 60V 24 0.25 |3(0 o)1
y ¢ : 40 (@) S (1®
ABI:3A | AB:6QV ‘
2 4 40 0O)2
4 1@3 @ pE4n | DEagy | OOV 24 025 15l0 9
3 3
2 4 4 2
[oXe)
5 13 3A 30V 30V 24 0.25 31
5 5
a 4 4 4
5 3 5 3 B 3405 5, 0N\3
6 % 6 @ o| ARILSA | 30y 30V 26 014 s e
N o/, \®_ @/ " DEI:15A/3A Ye~9 0.0/
5 5
6 4 46099
8 73 1.5A 30V 30V 26 014 |3(g80)
1 /) 58 8 2 1
0 491.2 4 A
i Ed1.2 } 61, NP SE} . F S—
- R SO SPRSE —o—=— | P =
- e D g oF | O oo
= 34 ‘ 3.3 3.4 g3 < 275 - Le | | Hg
- 3.7 <
M8 - Bt B S B (=)
3 4 4D
12.5 12.5 12.5
3-01.2 ‘ ZL“_,‘ 519
T—oto; O F%H48 | 0t
@E, = 4—¢1.2 8 V‘zo
35 S 3.4 M_‘ ‘k 33 Ng
5B 6 8
12.5 12.5 12.5
5-¢1.2 \ﬁl 0 — ‘ . A%T
mi)L £ L\f i m C’l{} {}EI ﬂ% ml S r\{:ri}’ 74\ 31 ﬁ[g
0all 34 sl 6408 o el [N s

M8-EiRINEN M E

10 10
2-92 9 2-92 2.1 9
S S
| !
© Tet © oyl
S S
g 5 % g 5%
" ‘ \\ o - \»& o
s\ 2 VK
2-91.5 os | \eor2 2-91.5 os |N\amot2

CAZN (22



M8 - BB S B (i)

17
!
06 | |4-41.2
3.4

‘ Sdﬂjsz—-,—wi 5%@1.95 ‘ < 35 ‘ 29 ‘
Fan - S 7 S = e
o ‘ Ly . »L% -2 {}7 . ds‘ﬁg E m
[ | = e
5 . -$0. 06| 0.

LIRS |
ml t T o T
o
" o | Ay
06l 2 06]] & | o‘ 0s]] N 6908 TilgT 8008
34 34 & 274 . 37

L

8ith

RETE SUIREAIRAE,

WM E EMERRR T LS,

23| OAZN



M9 Z 5

s 2~81%

REBIIERERE360° 2 T

MRk ARR, FEFESX (KEUERES)
A IRATRE. Rakix. BEXRPCBIRT
BhkE: IP65, IP67

FFmBE
Pl 7L HESER/ARER
BHMR HEMBE /AR
TR B/ BHEES
BRI PA66
BB TPU/PVC

RARFE
RL&EE
B

ERRE

<3mQ
3.0~5.0mm
=100MQ

-25°C ~ +80°C

Caznlink.com (24



BIR/KES

BERX AR ESEREL 54

M9 - S 3 - GWA 05

Max95.9

EXHBEEEREL 54+

M9 - P 3 - GWA 05

Max95.9

BXABREEHEL 54t

M9 -S 3 -GWD 05

2345678

214
M9X0.5

EAHBEEREAEL pan

M9 - P 3 - GWD 05

B
2345678

R
R BB EESL
M9-S3-MWA-1PV-5S
A 727N S: FE#K
2345678 PV:PVC |2 3EF
PU:PU
TF- £k
PE:PE
FERBER
BRI BUH B ARESL 46.37
M9-P3-MWA-1PV-5S
B ZA(M): [&4: S: R
2345678| (1M PV:PVC =3RRI
2.5:2.5M |PU:PU
,,,,,, TF&ER
PE:PE
R
R

B FL B BESL

M9-S3-MWD-1PV-5S

A HR(M): (&4 S: FE#K
2345678 1M PV:PVC  |Z3:3E Rl
2.5:2.5M |PU:PU

...... TF- £k
PE:PE

25

CAZN



BIR/KES

SRR
PR BB AESL
M9-P3-MWD-T1 PV -S
TH: BEM): [&H:  [SER -
2345678 1M PV:PVC |2 3ERH
2.5:2.5M [PU:PU
...... TR k5.7
PE:PE
IRETR I BURAE 2= FART
M9 -P 3 - GWB M12 o — 0
n| © ;?
ik e
2345678 =y =
13.7
MR A S FL B R ot FART
M9 -S 3 - GWB M12 ol 0
o o S
sl % &
=1 =
‘ 9.5 15 $12.1
RIG R BIREE 24 FART
M9 - P 3 - GWF M12 P —
0 g -
2345678 =l =1 -
14.9 ) P12.1
RS R B RE m it FART
M9 - P 3 - GPF M12 P I —
T
5 5 -
14.9 ) $12.1
G R EFLBREE 22 FART
M9 -S3-GWF M12 wl T
2 o 1o}
s
‘ 9.5 15 9121
R 5 RS AL B R m st FART
M9 - S 3 - GPF M12 ol &
o
3l 5 S
= =y
9.5 1.5

CAZN (26



4A

24

0.25

4A

125V

125V

24

0.25

3A

125V

125V

24

0.25

N

3A

125V

125V

24

0.25

—_ N
@)
o) o) (O}e]
Oo O O
w ~ Ea !

1A

125V

125V

26

0.14

N
o \(
o
©)
o /o~

1

1A

125V

125V

26

0.14

(N
@)

1A

125V

125V

26

0.14

0N o o
AND) “/e®0© o
© O |~ O |-~
Cg0 °,0 (‘©

MO - B iR TV

S
155 1.09 < @ \%g | j{; %'6"%2%1 Sk
e 1 T PR A S m
AR s Y - EC = O ==
S - 3 | 8 & | & A bid |
v = |22 2| o g 18] 9 4 118
322 | - 37 —le 37
M9 - E X

27| ONZN

SRETESIREIIE, WRIMEERMBRREIWS,



M12%5Y

ERINRIEESEMN360° 2R, HREGHERBIEH
FRAEEIEC 61076-2-101 Tuk4.06MY, NEMA20004R
fEsk: ARR, FEFESX (KEUEERES)

A IRATRE. Rakix. BEXRPCBIRT
FEaithg: 2. 3. 4. 5. 6, 8, 12, 17i

BhkE: IP65, IP67

FFmBE
s ERER/ S EER/PA+GF
BHMR HEMBE /IR
Tt BEiF/BHEES
BRI PA+GF/TPU
R BT TPU/PVC

RARFE
THIRIRE
HMATIRAE
ERRE

FAKELR

<5mQ

>500;%

IEC 61076-2-101
-25°C ~ +80°C
IP67

Caznlink.com (28



FmE BIR/KES R<H

BERXAREEARLEL gt

M12 - S 5A - GLA P7

REE FES
A2A3A4A P7:PG7
5A 6A BA P9:PG9
B:5B
D:4D

Max. 8

BERX R EEARLEL gt

M12 - P 5A - GLAP7

B8 EES
A:2A3A4A|  |P7:PG7
SAGABA| [P9:PGY
B:5B
D:4D

820
M12X1

2
o

8]

Max. 8 ‘

ERXAREEARLEL 2=t

M12 - S 5A - GLD P7

B8 EES
A:2A3A4A|  |P7:PG7
SAGABA| [P9:PGY
B:5B
D:4D

EXHBESBHERINAEL 2o

M12 - P 4A - GLD P7

S EES
A:2A3A4A|  |P7:PG7
SAGABA| [P9:PGY
B:5B
D:4D

Max. ¢8.15

BERXAREEARLEL ot

M12 - S 5A - GWA P9

S

A2A3A4A
5A 6A 8A
12A 17A

B:5B

D:4D

Hwﬁ'

BERXREEARLEL ot

M12 - P 5A - GWA P9

8

A2A3A4A
5A 6A 8A
12A 17A

B:5B

D:4D

$16.5

BERX R EEARLEL mast

M12 - P 4D - GCA P9

it

‘ﬂ

T

=l
oam \l\ ‘j’ j

B:58
D:4D
~55

$16.5

ERXAREEARLEL ot

M12 - S 5A - GWD P9

916.5

8

A2A3A4A
5A 6A 8A
12A 17A

B:5B

D:4D

29| OAZN



BIR/KES

ERXHEEEARLEL ot

M12 - P 5A - GWD P9

A2A3A4A
5A 6A 8A
12A 17A

B:5B

D:4D

BERXARBRARLEL —» = gg=

M12 - P 4A - PLA-1T2

T
A4A

EXNABRBRARAAL gt

M12 -S5A - PLAP7

BEE EEH
A:2A 3A4A P7:PG7
5A 6A 8A P9:PG9

PG7/PGY

0o
swie.s| %
| 2
U %8 ARS 4F 3
B RBRAEAL 2ot R
M12 - P 5A - PLAP7 .
EC EER
A2A3A4A| |P7:PG7 —
SA6ABA| |P9:PGY S
SW16.5 s
BHABBRAZENAL 2ot
M12 - S5A - PLD P7
©
EE ER ?
A2A3A4A| |P7:PG7
SAGABA| |P9:PGY
B RBRA AL 2ot
M12 - P 5A - PLD P7
0
S EER 3
A:2A3A4A|  |P7:PG7 :
SA6ABA| |P9:PGY

EXNARBRARAHL 24t

M12 - S 4A - PWA P7

E

A2A3A4A
5A 6A BA

B:5B

D:4D

916.5

M12x1

BB BRARHRL st

M12 - P 4A - PWA P7

A2A3A4A
5A 6A 8A

B:5B

D:4D

06

916.5
Mi12x1

]
|

CAZN ‘30



A BIR/KES R<H

ERBER
G BEXA B AR,
M12-S6A-MWA-1PV-S [
A2A3A4A12A| 1M PV:PVC  |=E3ERIR
SA6ABAT7A| [2.5:2.5M PU:PU
BB | e TREER
C:3C4C5C6C PE:PE
D:4D
BRX AL B EMESL Leox
M12-S5A-MWA - 1PV -LP2
A:3A4A 5A 1M PV:PVC  [LP2: 2TPNP
2.5:2.5M [PUIPU  |LN2: 2KTNPN
...... TR 851 | LP3: 3XTPNP
PE:PE  |LN3:3KTNPN
ERBER
G BB AR RESL
M12-P5A-MWA-1PV-S
H LAR(M): | %hs: S:FEmR 3
A2A3A4A12A| 1M PV:PVC  |=E3ERIR
SA6ABAT7A| [2.5:2.5M PU:PU
BB | e TREER
C:3C4C5C6C PE:PE
D:4D
BB BMESL Leox
M12-P5A-MWA-1PV-LP2
1M PV:PVC  [LP2: 2TPNP
2.5:2.5M [PUIPU  |LN2: 2KTNPN
...... TR 854 | LP3: 3XTPNP
PE:PE  |LN3:3KTNPN 485
ERBER
Gl SHA B AR
M12-S4A-MWD-1PV-5S -
o
T BEM): [&H:  [shm "
A2A3A4A12A |1IM PV:IPVC | =3ERERR
SAG6ABAT7A| [2.5:2.5M [PU:PU
B:SB | e TFEER
C:3C4C5C6C PE:PE
D:4D
ERXA B EMESL Leoi
M12-S4A-MWD -1 PV -LP2 _
P
S8 S8 =
A:3A 4A 5A LP2: 2XTPNP ™
LN2: 24TNPN
LP3: 3XTPNP
LN3: 3KTNPN ‘
-2 \
$14.5
FERBER
PR TSR EESL
M12-P4A-MWD-1PV-S
it HEM): (et SRR
A2A3A4A12A| |1IM PV:IPVC | =3ERERR
SAG6ABAT7A| [2.5:2.5M [PU:PU
B:SB | e TFEER
C:3C4C5C6C PE:PE
D:4D
BB EMESL Leoi
M12-P4A - MWD - 1PV - LP2
T (M) |Zeth: SES
A:3A4A 5A 1M PV:PVC  |LP2: 2KTPNP
2.5:2.5M |PUPU  |LN2: 2XTNPN
...... TREkE | LP3: 3KTPNP
PE:PE  |LN3:3{INPN
\ M12x1 \
014.5

31| ONN



BIR/KES

EmE RYHE
ERBER 15.8
G BEXABMAERGEL Bz : ‘
M12-S5A-MWA-1PV-S-ZN n
Sp}
A2A3A4A12A| 1M PV:PVC  |=E3ERIR
SAGABAT7A| [2.5:2.5M |PU:PU —
BB | e TREER
C:3C4C5C6C PE:PE
D:4D
SEFRRR 475
P BB A EESL mes : |
M12-P5A-MWA-1PV-S-2ZN W
‘el
A2A3A4A12A| 1M PV:PVC  |=EERIR
SAGABAT7A| [2.5:2.5M |PU:PU L
BB | e TREER
C:3C4C5C6C PE:PE
D:4D
BEXARARERRSL 2px
M12-S5A-MWA-1PV-PM T f “
| X
T BEM): |5h s 2 | || (cAzN) 3
A2A3A4A12A 1.1M PV:PVC —
SAGABAT7A| [2.5:2.5M |PU:PU h—
BB | e TREER
C:3C4C5C6C PE:PE
= 47.5
BB ERRSL 2px
M12-P5A-MWA-1PV-PM
[Ie}
8 BRM): [5H: s (CAzN) 3
A2A3A4A 12A 1.1M PV:PVC
SAGABAT7A| [2.5:2.5M |PU:PU
BB | e TREER
C:3C4C5C6C PE:PE
D:4D 48.5
) 36
BHARMERGL 2rx 1 N
(@) 5
M12-S5A-MWD -1 PV -PM |
L)
R BRMW): |EH: =
A2A3A4A 12A 1M PV:PVC
SAGABAT7A| |2.5:25M [PU:PU
B:5B TR&ER
C:3C4C5C6C PE:PE Voo,
D:4D
215
B R AERRL 2px
M12-P5A-MWD - 1PV -PM
HEC HEZoN
A2A3A4A12A PV:PVC
SA6ABA 17A PU:PU
B:5B TR&ER
C:3C4C5C6C PE:PE
D:4D
FERBER
R —H AR HEIEL
M12-S5A-MWA-1PV-S-1T2
HEC HEM): (%M |SERK
A2A3A4A12A| 1M PV:PVC  |=EERIR
SAGABAT7A| [2.5:2.5M |PU:PU
BB | e TREER
C:3C4C5C6C PE:PE
B 53.2
FERBER
R — 5 T B AR,
M12-P5A-MWA-1PV-S-1T2 ﬁ % @ 3
R BRM): [BH: SR == ® | 9
A2A3A4A12A| 1M PV:PVC  |=EERIR
SAGABAT7A| [2.5:2.5M |PU:PU —
BB | e TREER
C:3C4C5C6C PE:PE
D:4D 55.4

COAZN

32



R
R

BIR/KES

B AL B R BMREE FM16x15

M12-S4A - MWFM16-1PV-S

HEC LRM): (& |SRR
A2A 3A4A 12A 1M PV:PVC =3B

5A 6A 8A 17A 2.5:2.5M |PU:PU
B:5B TR&ER
D:4D PE:PE

5241

M16x1.5

$13.2

i

18,5
20.54+0.2

R
R

BB BUREE 2 M16x15

M12-P5A-MWFM16-1PV-S

HEC LRM): (& |SRR
A2A 3A4A 12A 1M PV:PVC =R

5A 6A 8A 17A 2.5:2.5M |PU:PU
B:5B TR%ER
D:4D PE:PE

53.5+1

i
=

#85F M16x1.5
#85F PG9

RBT R BUREE )2+t

M12 - P 3A - GWB M16

B 955

A:2A 3A 4A 12A(|M16:M16x1.5
5A 6A 8A 17A|[P9:PGY

B:5B

C:3C4C5C6C

D:4D

18

PG9

M16X1.5

$16.1

()

FILRYT

$85F M16x1.5
#85F PG9

IRATR IS BURIE 222 ga e

M12 - P 3A-GWB M16 - ZA

B LY

A:2A 3A 4A 12A(|M16:M16x1.5
5A 6A 8A 17A|[P9:PGY

B:5B

C:3C4C5C6C

D:4D

18

PG9

M16X1.5

$16.1

()

FILRYT

3.5

RBT LR BMREE 1542 27M120

M12 - P 3A - GWB M12

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

312.1

=

FIRYT

RET R BUREE 54 2FPG1

M12-P 8A - GWB P11

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

918.6%3!

@

FIRYT

#85F M16x1.5
#85F PG9

R BT RS BUREE it

M12 - P 5A - GPB M16

B 45T

A:2A 3A 4A 12A[M16:M16x1.5
5A 6A 8A 17A|P9:PGY

B:5B

C:3C4C5C6C

D:4D

18

PG9

M16X1.5

$16.1

FIRYT

O

RBT R BMREE finat 2M120

M12 - P 5A - GPB M12

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

M12X1

22

M12X] ]|

312.1

=

FILRYT

33

CAZN




BIR/KES

RAT R BUREE 18420 257M15x1 BRI

M12 - P 5A - PWB M15

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

18
M12x1

FHRYT

$15.1

135

925F M16x1.5
125F PG9

PRATZR IR LB EE o420

M12 - S 8A - GWB M16

B
A2A 3A 4A 12A]
5A 6A 8A 17A

455
M16:M16x1.5
P9:PG9

B:5B
C:3C4C5C6C
D:4D

18
$13.2
M12X1

[ M16X1.5 |

20.5 ‘

PG9

FHRYT

?16.1

135

925F M16x1.5
125F PG9

IRBIRFEFLBMRE oaxt rae

M12 - S 4A - GWB M16 - ZA

B
A2A 3A 4A 12A]
5A 6A 8A 17A

455
M16:M16x1.5
P9:PG9

B:5B
C:3C4C5C6C
D:4D

18
$13.2
M12X1

[ M16X1.5 |

PG9

FHRYT

?16.1

RAT R FLEMREE 5= 27FM120

M12 - S 5A - GWB M12

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

$13.3
M12X1

FHRT

M12X1

$12.1

20.5

RAT R FLEMREE 2= 27FPGO TR

M12-S12A-GWB P9 - ZD

L

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

D:4D

FIRYT

915.2*3"

IRAT R FLBMREE 18420 257M15x1 B

M12 - S 5A - PWB M15

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

18
$13.6
M12X1

20.5

|_M15x1

FILRYT

$15.1 ‘

RET R L FLEMREE fminat 2M120

M12 - S 5A - GPB M12

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

$13.3
M12X1

FHRT

M12X1

3121

20.5

#85F M16x1.5
#85F PG9

RS T o E B RE Je =t

M12 - P 4A - GWF M16

B
A2A 3A 4A 12A]

455
M16:M16x1.5

S5A6ABAT7A
B:5B
C:3C4C5C6C
D:4D

P9:PGY

PG9
M16X1.5
M12x1

FHRYT

2161
o

A’

‘34



i BIR/KES <

$25F M16x1.5
425F PG9

REREHBRE ax sas

M12 - P 5A - GWF M16 - ZA

B 485

A:2A 3A 4A 12A(|M16:M16X1.5
5A 6A 8A 17A|P9:PGY

B:5B

C:3C4C5C6C

D:4D

PGY
MI6X1.5

FHRYT

$16.1

IRIGRF T BUAE gt 25M1 24

M12 - P 5A - GWF M12

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

812.1

@

FILRYT

©
~

R R BUREE j2 50 25M120 #aS

M12 - P 8A - GWF M12 - ZA

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

812.1

@

FILRY

$25F M16x1.5
$25F PG9

R R R BREE 2a= ik

M12 - P 5A - GWF M16 - PBG

B 425

A:2A 3A 4A 12A(|M16:M16X1.5
5A 6A 8A 17A|P9:PGY

B:5B

C:3C4C5C6C

D:4D

9161

$85F M16x1.5
#85F PG9

R 5 e a £ B BE st

M12 - P 12A - GPF M16

T 1B

A:2A 3A 4A 12A|M16:M16x1.5
5A 6A 8A 17A(P9:PGY

B:5B

C:3C4C5C6C

D:4D

PGY
MIBX1.5

FILRYT

$16.1

T

-

$85F M16x1.5
#85F PG9

R REHBRE mns as

M12 - P 5A - GPF M16 - ZA

B 425

A:2A 3A 4A 12A[M16:M16x1.5
5A 6A 8A 17A|P9:PGY

B:5B

C:3C4C5C6C

D:4D

PGY
MIBX1.5

FILRYT

$16.1

T

-

R JE RIS B EE =t 25M120

M12 - P 8A - GPF M12

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

M12x1
212.1

o

FIRYT

=
~

RE R BB EE minst 25M120 A

M12 - P 8A - GPF M12 - ZA

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

M12x1
212.1

o

FILRYT

CAZN




$85F M16x1.5
#85F PG9

BIR/KES

RIE R BMREE minat it

M12 - P 12A - GPF M16 - JD

L LY

A:2A 3A 4A 12A| M16:M16x1.5
5A 6A 8A 17A|P9:PGY

B:5B

C:3C4Cs5CeC

D:4D

PGY
MIBX1.5

FILRYT

$16.1

T

-

R T RS B BE mimat 25 M12) #:2

M12 - P 8A - GPF M12 - JD

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

212.1

o

FILRYT

=
~

R JE A BUR BE 22550 25 M15x Bk

M12 - P 5A - PWF M15

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

M12x1

MI5X1

22

FILRYT

$15.1

(O

o
&

RS 3 BUR BE 22550 25 M12 BikR

M12 - P 5A - PWF M12

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

M12x1

812.1

FIRYT

o

©
~

T 2 B BE mimat 25 M150) B

M12 - P 5A - PPF M15

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

M15X1

FILRYT

$15.1

T

-

R T 2B BE mimat 25 M120) B

M12 - P 8A - PPF M12

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

FIRYT

©
~

#85F M16x1.5
#85F PG9

RIEREFLBREE o2t

M12 - S 5A - GWF M16

B 425

A:2A 3A 4A 12A(M16:M16x1.5
5A 6A 8A 17A|P9:PGY

B:5B

C:3C4C5C6C

D:4D

PGY
M16X1.5

9132

FHRYT

.
-

13.5

$85F M16x1.5
#85F PG9

RIEREILBIERE 2= gae

M12 - S 4A - GWF M16 - ZA

B 485

A:2A 3A 4A 12A(M16:M16x1.5
5A 6A 8A 17A|P9:PGY

B:5B

C:3C4C5C6C

D:4D

PGY
M16X1.5

9132

M12X 1
1

18

FHRT

.
-

13.5

CAZN ‘36



$85F M16x1.5
#85F PG9

BIR/KES

RIGREFLEREE 245 Bk

M12 - S 4A - GWF M16 - PBG

EC 25

A2A 3A 4A12A|M16:M16X1.5
5A 6A BA 17A|P9:PGY

B:5B

C:3C4C5C6C

D:4D

PGY
M1BX1.5_,

213.2
M12X1

[

ANAN

18.5

20.5£0.2 18.540.2

FILRYT

$16.1

13.5

$85F M16x1.5
#85F PG9

R R EFLBREE it

M12 - S 5A - GPF M16

EC 25

A:2A 3A 4A 12A|M16:M16x1.5
5A 6A BA 17A|P9:PG9

B:5B

C:3C4C5C6C

D:4D

PGY
M16X 1.5

$13.2

18

AN

20.5

FILRYT

$16.1

13.5

#85F M16x1.5
#85F PG9

REREFLBEREE s was

M12 - S 4A - GPF M16 - ZA

B 4825

A:2A 3A 4A 12A[M16:M16x1.5
5A 6A 8A 17A|P9:PGY

B:5B

C:3C4C5C6C

D:4D

PGY
M16X1.5

$13.2

18

$16.1 ‘

FIRYT

o
o

$85F M16x1.5
#85F PG9

R REFLEREE minst it

M12 - S 4A - GPF M16 - JD

B 425

A:2A 3A 4A 12A[M16:M16x1.5
5A 6A 8A 17A|P9:PGY

B:5B

C:3C4C5C6C

D:4D

MIBX1.5

813.2
M12X1

I—=n—i

Lo

A

18.5 3102

20.540.2 302

26.5

FHRYT

?16.1 ‘

RIS R FLBUIREE 22550 25154 BRkR

M12 - S 5A - PWF M15

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

M15X1

18

=
—
—

<
<
<€

FIRYT

$15.1 ‘

13.5

G 2L B BE sminat 25 M150 B

M12 - S 4A - PPF M15

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

M15X1

18

=
—
—

IS
g
<

N
<
w

FIRYT

215.1

AR A= EBUMRRE 1240 14014

M12 - P 5A - GWH

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

]
212
20

AR A= BMRRE 240 14014

M12 - S 5A - GWH

B

A2A 3A 4A 12A]
5A 6A 8A 17A

B:5B

C:3C4C5C6C

D:4D

913.5
M12X1

—

1
20

18.5

37

CAZN




@ BIR/IERS
RIEMR
B TR EMREE iRt 2FM120
FARYT
M12-P8A-GPLM12-JD )
R =N o~ D
A:2A 3A 4A 12A ID:EH =
5A 6A BA ]
B:5B
D:4D
RIEHR
B

T FLBUERE sminat 25FM12x]

M12-S4A-GPLM12-JDH

A 2R (SRR Y
A2A 3A4A12A] DEH | =:1.5~3.5mm
5A 6A 8A H:0~3.5mm
B:5B
D:4D

135

FHRY

8121

918.2
EIUEHEUERE it @M1 2 KRR o —
. “mm‘ I FHRS
M12 - P 8A - GPLM12 - BS & - ““] fi g i
=1 il . -
H ol
A2A3A4A12A L —— ] =
BEQGABAWA B 5 mf wx ‘J‘ 90.8 1
D:4D 15.8 3 1
29.4
B AL B fmint M5 AAIR FARY
M12 - S 8A - GPL M15 - BS = 0 {
9 3 I
H i - B
A2A3A4A 12A !
SA6A8A17A —
B:5B o ‘ _
D:4D
50.8
B EER| 457 ESS
FHRY
M12 - P 4D - RJ45 F8 - ASCNY o i M =
wH 3 g =l €
A4ABA = EE? @ } Q
D:4D .
135
48.3
B EER| 457 RS
FHRY
M12 - P 4D - RJ45 F8 - DSCNY - =
e EE : g
A:4A BA 5= ; Q
D:4D )
135
49
BXFLBER)45 5 RS
M12 Straight Female to RJ45 Adapter L FHRY
M12 - S 4D - RJ45 F8 - ASCNY g E[ Eééé @ o < Q
2= ~ = s
=

13.5

T AL BRI A5 RS

M12 Angled Female to RJ45 Adapter

M12 - S 4D - RJ45 F8 - DSCNY

=
L
A4A BA
D:4D

M16x1.5

M12x1

FHRYT

216.1 ‘

13.5

CAZN ‘38



7 mE BIR/KES R<H

YBUZE SRS pssr T

M12 - P 5A - SS 5A - YSCNY

22

38.7

S

A:2A 3A4A
5A 6A 8A

B:5B

D:4D

M12x1
%

M12X1
U0

YRUEEIEES pos Bk

121
fa——]

M12 - P 5A - SS 5A - YPMNY

mi2xt
387

S

A:2A 3A4A
5A 6A 8BA

B:5B

D:4D

Mi2x1
| —

g

LBYRRIEES som

M12 -S3A-S3A-LSCNY

A

A:2A3A4A
5A 6A BA

B:5B

D:4D

YBU L3S M12-M8x2 PSS

M12 - P 4A - M8 SS 4A - YELNY

e
A 3A4A

T BYBEHEZE M12-M12 PSE! £EH FARY
M12-P3A-S3A-IGASN of b e -
hei s ©
T e =1 s =
A:2A 3A 4A 12A]
5A 6A BA
B:58 229 13.5
D:4D
38
T BYBEHESE M12-M12 S5 2B FARY
M12 - S 4A - S 4A - IGASN o oo 2 -
e CEl S 5
A:2A 3A 4A 12A]
5A 6A 8A |10+02]
B:58 M.Bﬂ).?‘ ‘ 22.9 135
D:4D | |
38+0.2

T BY4EIEEE M12-M12 PSEL 8RR

M12 - P5A - S 5A - ISCNY —
< )
T = E[ [y ki
A2A 3A4A T2A f—
5A 6A 8A [ [
B:5B
D:4D =5
T BUAEHERR M10-MB PSE BRsEL
M12 - P5A - M8 S 5A - ISCNY — [
S ¢
T T = EAzy) 3
A2A3A4A T2A[ |A:3A4A ‘ I
5A 6A 8A 6A BA L5 [
B:5B B:5B 5
D:4D

39| OAZN



P 2R/ xRS

TEURRHEES pssm

M12 - S 5A - PS 5A - TSCNY

8

A:2A3A4A
5A 6A 8A

B:5B

D:4D

TERIFEIE 38 posa i

M12 - S 5A - PS 5A - TPMNY

8

A:2A3A4A
5A 6A 8A

B:5B

D:4D

TEUAEIE S psssssa

M12 - P 5A - S 5A x5 - TSCNY

L

A:2A3A4A
5A 6A 8A

B:5B

D:4D

TRUAEHERE psssssal B

M12 - P 5A - S 5A x5 - TPMNY

T
A:2A3A4A
5A 6A BA
B:5B
D:4D
TR 4 R 188 oy
M12-P3A /S 3A - MWT+OPEN - 1 PV
TH BRM): [BH:
A2A 3A 4A12A] T1M PV:PVC
S5A6A 8A 17A 2.5:2.5M [PU:PUR
B:5B e
C:3C4C5C6C
D:4D
M 12 -4 =48 BB 44
9.4 8.3
BN 5 T R \ \ LA AR AR
M12 - P 3A - PSS M12 - S 3A - PSS
TR ® TR
A2A 3A4A T2A o~ A2A 3A4A T2A
5A 6A 8A 17A 5A 6A 8A
B:5B B:5B
D:4D ! D:4D
Lo |
ES 12.6
IRETREEBSNR IRETREFLESN R REREEHESIN R REREEHESN R REREILESI R
2FM12x1 2FM12x1 2FM12x1 2FM15x1 2FM15x1
M12-PGBM12 M12-SGBM12 M12-PGFM12 M12-PGFM15 M12-SGFM15

CAZN |40



FmE BIR/EES RYE
#4788 fE AL AR SL 1200
M12 - S 5A - MWO - 120 —T
O x
THC TER(O): Y (CAZN)
A2A3A4A 12A 120:1200 s =
5A 6A BA 17A] 1
B:5B
Eig4c 5C6C 475
i B BAFLEMESL 1200 2k
M12 - S5A - MWO - 120 PM |1 I
0| X
THC ER): s 2 | (CAZN)
A:2A 3A 4A 12A] 120:120Q |
5A 6A BA 17A] 1
B:5B
Eig4c 5C6C 475
#2477 88 B £ B4R SL 1200
M12 - P5A - MWO - 120
L BBH(Q): @
A:2A 3A 4A 12A] 120:120Q
5A 6A BA 17A]
B:5B
Eig4c 5C6C 485
25 B3 BRET BUMESK 1200 2k
M12 - P5A - MWO - 120 PM
fg]
T ER(Q): = (cAzN)
A:2A 3A 4A 12A] 120:120Q
5A 6A BA 17A]
B:5B
Eiglm 5C6C 485
zIN
M12-BieE
M12 BB E AT M12 EBR4LE RF
KRER T8RS KRER T8RS
® 3mm M12P-TV5P-3 ®3mm M12G-TV1P-3
& 11.5mm M12P-TV5P-11.5 b 12mm M12G-TV1P-12
& 13mm M12P-TV5P-13 ®16mm M12G-TV1P-16
& 15mm M12P-TV5P-15
M12 2B ShoF M12 EBRALE S 5F
KRER T8RS KRER T8RS
¢ 3mm M12P-TV5S-3 ¢ 3mm M12G-TV1S-3
& 11.5mm M12P-TV55-11.5 ®12mm M12G-TV15-12
®13mm M12P-TV55-13 ®16mm M12G-TV15-16
& 15mm M12P-TV55-15

M12 BB A3 S SF M12 Plastic Dust Cover (Outer screw)

HRER RS
dM12 M12P-TV6S

41| CANZN




M12-EB55#

1 1
2 @ 4A 250V 250V 22 0.34
3 3
1 o 1
3 @ 4A 250V 250V 22 0.34
3 4 2 3 4 3
FE
2 O | 2 a0 ==y 10021 1002
4 Q \ @3 Q 4A 250V 250V 22 | 034
o O o o
3 4 3 4 5 3 4 4 3 4 4 3
Ve o\ | e . 4A:AR) BHY 1 \
4 2 . o O o O
5 @ s 60V 60V 22 | 034 %S
3 43 4 5 | 4 3 4
2 ) 1 4 - ) ‘O (<)
6 | , @. 2A 30V 30V 24 0.25 |/o o)
4 (] ° 5 1 6 ° °4
2 ) 1 1 2
o ©
8 37 2A 30V 30V 24 0.25 73
4 [o]
— 6 - 4
2 ! 10 B
12 j‘l 1.5A 30V 30V 26 | 014 jj
n7s - 42 ‘g 70205,‘
17 49 1.5A 30V 30V 26 0.14 94
e 8 8 ’705 5
M12-#ER AL
o 2A 3A 4A 4D 5A
S ! %l !& ‘& !&
=X =K B, B ey, B s,
/,/}/\ - 1.2 /\/\ 13_(‘)'\.2 2N ! 78 NN 79 B ) 78
= = el g 0=
&5 b5 5 5 b5

e
R A E

LB
R E




M12-#EBEENX

43

WH

WH

YE

WH

WH

WH

8ith

1215

> | > | > | >

1718

WH

WH

WH

WH

B GY
B GY
B GY RD
YE | GY | 3 RD
Pk I3 Bc [GAN RD
KRG °< IR R° O WHEP WHPP WHP W

REENIREIARE, RN EE BB AT WS,

CAZN




M12zEE ——XEYE

BIR/EES

BER R EEARLHEL surm Fa peo

M12 - P 8X - GCAP9 - ZN

EC
X:8X
Y:6Y 8Y|

R~E

BXABESEAREL gmn 2L pco

M12 - S 8X - GWA P9 - ZN

R
X:8X
Y:6Y 8Y

$16.5

EE

— U\Ih

ERH R EEARLIEL surm F2a Peo

M12 - P 8X - GCD P9 - ZN

S
X:8X
Y:6Y 8Y|

9165

ERABESEHRIEL gomn 2L pco

M12 - S 8X-GWD P9 - ZN

?16.5

M12x1
‘

~40

96

BB s0ER Rt

M12-P8X-GWA-1PV-S

T (M) |47 S:R#R
X:8X 1M PV:PVC | =R
Y:6Y 8Y 2.5:2.5M PU:PU
TREEL
PE:PE

BR AR EMESL wrm R

M'IZ-SSX-GWA-%PV-S

ELC HR(M): | &1 S:F#K
X:8X 1M PV:PVC | =R
Y:6Y 8Y| 2.5:2.5M |PU:PU
TF:EL
PE:PE

 $14.51

M12x1




BIR/KES

EE R EESL soEm minst

M12-P8X-GWD-1PV-S

T (M) |47 S:R#R
X:8X 1M PV:IPVC | Z=:3ERR
Y:6Y 8Y 2.5:2.5M |PU:PU
TREER
PE:PE

BT BB EESL surm minst

M12-S8X-GWD-1PV-S

T (M) |47 S:R#R
X:8X 1M PV:IPVC | Z=:3ERR
Y:6Y 8Y 2.5:2.5M |PU:PU
TREER
PE:PE

B AL B BMREE T M16x1.5

M12-S8X-MWFM16-1PV-S

LAS(M): |EH S:FF#R
1M PV:IPVC | =3ERE#R
2.5:2.5M |PU:PU
TFEER
PE:PE

)

5241
d ‘77,

. xl

&2

=

IRATREFLEREE SRR 1245 8FM16x1.5

FILRYT

M12 - S 8X - GWB M16 ﬁiL . A/
— 22 i 3 e <
E L= —
X:8X <
Y:6Y 8Y| I
11.1 B810.15 1 35
19+0.2 5.50.2
RETRSEFL BV FE srmm st BFM16x1.5 FART
M12 - S 8X - GPB M16 *7E = s
T = = <
xex 10 S = ©
Y:6Y 8Y|
11.7 | 79 3£0.15 /‘ 55
19.640.2 3+0.2
RT3 FL B BE 2ma) 24t 8257 M16x1.5 FART
M12 - S 8X - GWF M16 AT e s
— R ©
;\(_‘:\SX, = - [s=| N
Y:6Y 8Y|
8.9 ‘
17.6 55402 13.5
19.60.2 7.410.2
5 SW17
RELEFLBURRE sorn e BTMI605 B FART
wl o _
M12 - S 8X - GWF M16 - PBG <Yzl _
215|510 s
T 25 = 1 =
X:8X M16:M16x1.5 —F =
v:6Y8Y| |P9:PGY 17.5
19.5
45.7 13.5
RIG R EFLEMREE R HiRs ©FM16x1.5 FART
M12 - S 8X - GPF M16 T b oL s
xex g0 =0 ——= ©
Y:6Y 8Y) L = I

17.9

3+0.15

19.90.2

3+0.2

45

CAZN




BIR/KES

FEHR
B T FLBERE sminat 25FM12x]

M12-S6Y-GPLM12-FJD

T =R
X:8X D

T j@ FHR

»13.5
‘ M12x1
\
=]
| 87
#12.1

Y:6Y 8Y
1 6.85 ~
16602 | 124 |_210.7 |
B FLBIRR) 45538 180° mizn o
M12 - S 8X - RJ45 F8 - ASCNY _ FIRY

M16x1.5
‘ M12x1 ‘
]
20.2
|
Q0manann
016.1

T FLBUEER| 45554228 90° Himm

M12 - S 8X - RJ45 F8 - DSCNY ‘ FHARYT

M16x1.5
M12x1 ‘
1
LN
20
016.1

M12-Mh AR IE S SIS E A (XEY)

5 Fr =0 7L B4R BB it

M12 - S 8X - PSS

B8
X:8X
Y:6Y 8Y|

[ ULUJIU i
20.7.
o1
011

1.510.2
20.140.2 55402 FARY

T FLBAERE sminst 1245

M12 - S 8X - PPL

#8.87
08.28
@j
~.
\,
/
s

/’ — ) \
G S ﬁ D7 |
X:8X { o -
Y:6Y 8Y —T ’ & ] %
6.85 ':h pre =
111285 16.6+0.2 12.4 FL Tj'
RATREFL BN REREABEING
$25FM12x1 $25FM12x1
M12-SGBM12-X M12-SGFM12-X

CAZN |46



®OxE

XE 8X % % 0.5A 50V 60V 26~24 0.14~0.25
2
8 1
3 2
4 I 1 2x26AWG
6Y !}Q 0.5A/12A 30V 30V + 0.14~0.5
4x20AWG
YE jz
1 4x26AWG
8Y % 0.5A/6A 30V 30V + 0.14~0.5
4x20AWG
5 7
6

M1 2(XY)- R ML E

47

B

ERA ML E

o |y | "W
81 X WH
81 Y WH

OAZN

WH

WH

WH

REENIREIARE, RN E BB AT TS,

WH

D4

D4

WH D4-

D4

WH D4-

WH




MI12BFE ——STKLMZ

BIR/EES

BERX AR BRA AL s gt

M12-S5L-PLAP9-NP

o
s
%
S
=

8 e |NP:IEEEH

S:234 PO:PGY (=i

T:234 P11:PG11 -

Ki2345

L:2345

M:2345 swig

BER R BRA R IAL s o=t

o
M12 -P5L-PLAP9 -NP 3
=
T T&:  [NPRERE l
S:234 PO:PGY |==:Eih
T:234 P11:PG11
K:2345
L:2345 SW18
M:2345
EHFL B BRARAEL sipm 24750 pco ~38
M12 - S 4S - PWD P9 - NP SIE J
1 SlE 0
T NP 1 o
5234 = ~
T:234
K:i2345
L:2345
M:2345
Max.88 ‘ ‘
BB BRARIEL oz @+ peo ~43
M12 - P 4T - PWD P9 - NP 2 J
1 = 0
NZEE= o
= 2
Max.88 ‘ ‘
ERees
TR BEXFLB A EESL En
M12-54T-MWA-1PV-S-NP
T HE(M): |1 SR
S:234 1M PV:PVC |
T:234 2.5:2.5M |PU:PU j
K:2345 | |.. TR&EL
L:2345 PE:PE
M:2345
SRR
G BB AMESL wEn

M12 - P 4T - MWA - 1 PV - S - NP

A LR(M): (L. SRR

S:234 | 1M PV:PVC | Z:3FfL | = )
T:234 | |25:25M [PU:PU

K:2345 | |... TF8RE

L2345 PE:PE

M:2345

48.5

CAZN |48



7 BI/LBS RYH
IERWR
R SRABHEIEL oz
M'IZ-S&E-MWD-'I PV -S-NP
EC M) (&7 S:FER
S:234 | |1IM PV:PVC | Z:3FfL | =
T:234 | [25:25M [PU:PU
K:2345 | ... TF8RE
112345 PE:PE
M:2345
FERB
R TR R o

M12- P 4T - MWD - 1PV -S - NP

L HE(M): [&i1:
S5:234 1M PV:PVC
T:234 2.5:2.5M |PU:PU

Ki2345 | ... TFEER
112345 PE:PE
M:2345

IRBT R L BMREE spn! 1945 8 FM16x1.5 FART
M12 - P 5L - GWB M16 - NP o
TR NPEFER X ©
S:234 = - RSy
T:234 =
K:2345 B
L:2345
M:2345 13.5
IRATRIEFLERAE apn 2450 BFM16x1.5 AARY
M12 - S 4T - GWB M16 - NP i — o
T o X < S
T NP 2o o 3 2
S:234 = s = — A=Y
T:234 =
K:i2345 B
YBEVD 205 —=

G R BEMREE dpn 1945 8FM16x1.5 FART
M12 - P 4T - GWF M16 - NP ol
. X <
S o s
=
13.5
T RIS B EE g it 2FM16x1.5 FARY
M12 - P 4S - GPF M16 - NP ol
1 % ©
TH NP e © s
S:234 = EM =
T:234
K:i2345
L:2345
M:2345 _ 135

RS R FL B RE oipa iRt 2FM16x1.5

M12 - S 4S - GPF M16 - NP
I T

T NP:JE
S:234 =
T234
Ki2345
L2345
M:2345

213.2

M12X 1
1

M16X1.5

18

FHRS

13.5

¢16.1

49

CAZN




BIR/KES

RS R LB RE oipn 1245 2FM16x1.5

M12- S 5L - GWF M16 - NP
1 1

L
S:234
T:234
K:2345
L:2345
M:2345

NP:3EZh
=M

MI16X1.5

9132

M12X 1
\

=
=
—

RYE

g
<
<

18

?16.1

FHRT

135

AR A= BUMREE apm 84t 1414

M12 - P 4S - GWH - NP

T
S:234
T:234
Ki2345
L:2345
M:2345

NP:JEEHD
=i

Mi2x1

| 36402

FRE= A BUREE apm 845 1414

M12 - S 4T - GWH - NP

AL
S:234
T:234
K:2345
L:2345
M:2345

NP:3EREH#D
=

3.5

M12X1
T
I

315

1/

18.4+0.2

5.2£0.2

M12(ST)- BS54

2 . 3 12A 630V 630V 16 1.5 ; 1
PE PE
SE 2+PE . 3 12A 630V 630V 16 1.5 ; 1
PE PE
o
3+PE 1 3 12A 630V 630V 16 1.5 3 OOQ‘
2 2
3 3
o
2 12A 60V 60V 16 1.5 3
1 1
3 3
49
TH 2+PE 12A 60V 60V 16 1.5 00
PE 1 1 PE
3 2 2 3
0
3+PE 12A 60V 60V 16 1.5 o
PE 1 1 PE

COAZN

50



M12(LKM)- EE5 &4

2
2

J
ot
&

3
3

2.5
2.5

2.5

2.5

2.5

2.5

2.5

2.5

2.5

2.5

1.5

1.5

55

1.5

1.5

16
16

16

16

14

14

4

1

14

14

14

6

1

16

6

1

16

16

800V
800V

800V

800V

63V

63V

63V

63V

63V

63V

630V

630V

630V

630V

630V

800V
800V

800V

800V

63V

63V

63V

63V

63V

63V

630V

630V

630V

630V

630V

16A
T16A

T16A

16A

T6A

T6A

16A

16A

16A

16A

8A

8A

8A

8A

8A

2
2+PE

3+PE

4+PE

2+FE

3+FE

4+FE

2+PE

3+PE

4+PE

5+PE

KE

L&

ME

51



M1 2 (STLK)-fEiR = &L

e
RS A A E

B
R E

i

M12(STLKM)- 24 E X

2+PE S
3+PE S
i T
i L
4+PE L
4+PE K
5+PE M

HRATESXIREMIRE, MRIMNEE EMER R LSS,

WH

WH

WH

YE
YE
GY
BT
GY
BT
YE
YE

COAZN

52



M 1 4%; !I M14 Serie

REBSIIEIERE360°2 TR
Most connectors are excellent for full shielding at 360 degrees

sk FEBHELAN (KEERES)

Plug: Overmolded cable type (length can be customized at will)

TREE: IRAIRR, IRERKELRPCBIRT

Socket: Front Mount Solder Type, Back Mount Solder Type and PCB board type

FHKE: IP65. IP67

Waterproof grade: IP65., IP67

Pt 1815
Pins Number: 18 pins

RS IPC-A-620 tRE

Products comply with standard

?-:z O > 3%
A= ; ProbucT PARAMETERS

AR B/ EREER EREFR 3
Shell material Brass/Brass nickel plated Pollution level

LAEILIE S HaMRE/RBR ERAFEHT <5mQ
Sealing material Epoxy resin/Rubber Contactimpedance

fwEH R B/ BRES BRI 2500} (Cycles)
Contact material Brass/Phosphorus copper gold-plated Durability

B PA66 ERRE -25°C ~ +80°C
Insulator material Applicable temperature

RREAT R TPU/PVC B =100MQ
Molding material Insulation impedance

53| Caznlink.com



7= BIR/XES RYHE

ProbucT FIGURE Name/Type No. DIMENSIONS

B 7L B BESL

M14 Straight Female Overmolded Plug 5391ET

M14-S18 - MWA - 1 PV

s ZR(M): | &4
A:58 1012 1M PV:PVC
1416 18 2.5:2.5M [PU:PU

- T k)|
PE:PE

$17.5

BB A EESL

M14 Straight Male Overmolded Plug 55.5+1

M14-P18 - MWA - 1 PV

s LR(M): | L
A:58 1012 M PV:PVC
1416 18 2.5:2.5M |PU:PU
TRERER)
PE:PE

$17.5

ZHFL BB ESL

M14 Angled Female Overmolded Plug

M14-S18 - MWD - 1 PV

L ZR(M): | &4
A:581012 M PV:PVC
1416 18 2.5:2.5M [PU:PU

- T £k )|
PE:PE

B ap RGeS

M14 Angled Male Overmolded Plug

M14-P18 - MWD - 1 PV

T LR(M): | L
A:58 1012 M PV.PVC
14 16 18 2.5:2.5M |PU:PU
TRERER)
PE:PE

MR AT R FE B E 2450 2FM17x1.5
M14 Male Front Mount Socket (Solder, Screw M17*1.5)

M14-P 18 - GWB M17

M14X1
M17X1.5
917.1%§

T
A:5 810 12
1416 18

1.50.2 15.5+3"

FIRS
5.1+0.2 hole opening size

R AT R BUREE 12450 2FM17x1.5
M14 Female Front Mount Socket (Solder, Screw M17*1.5)

$15.3

M14X1
M17X1.5
917.1%§"

M14-S18 - GWB M17

R
A:5810 12
1416 18

1.540.2 15.5%"

9 9.5 340.2
! ! FHRS
20.5£0.2 5.540.2 hole opening size

RIE R BUREE 242t FM17x1.5

M14 Male Back Mount Socket (Solder, Screw M17*1.5)

M14X1

M14 - P 18 - GWF M17

M17X1.5
#17.1%8"

HEC |
A5 810 12 ' 1.540.2
14 16 18 N et L 55|
198 | ‘ 3402

FHRS

5.140.2

CAZN ‘54



7= BIR/XES R~HE

ProbucT FIGURE Name/Type No. DIMENSIONS

RS R BUR EE it ]
M14 Male Back Mount Socket (PCB) T |
i —%% g
M14 - P 18 - GPF M17 Bl s _—— <
= = f;ﬁﬂ;i s
o I8 i
A:58 1012
1416 18 155191
19.8 ‘ 3+0.15 FHRY
2240.2 3+0.2 hole opening size
R/E REFLBMREE 2450 s25FM17x1.5
M14 Female Back Mount Socket (Solder, Screw M17*1.5)
o So
M14 - 518 - GWF M17 g =
= s
E
. 1.5+0.2
A 154&11501;32 ! + ~ 15.5'¢"
18.5 | 3+0.2 - -
o FILRY
20.5+0.2 5.540.2 hole opening size
M14 Female Back Mount Socket (PCB) N
ol |- = - 3
—| N < 7% s Ea
M14 -S 18 - GPF M17 éfg = =
= 733': ©
s o,‘
A:58 1012 =
1416 18
18.5 ‘ 3+0.15
20.540.2 3£0.2
AEHFR/Ungrounded 1
#38/Grounded EIEHEERE s5inat goFm140 S FARY
M14 Curved Needle Socket (PCB, Screw M14*1) sy, hole opening si
-2 &3
W
M14-P 18- GPL M14 - D ] H“NH '\' 3
A:5 81012 |ID: i { -
1416 18 ‘ U‘L“U“JU
3 du it
I s

55| COAZN



IV” 4 EEJEL%;EQ M14 ELECTRICAL PARAMETERS

T &I 3E B8 /& Rated voltage SARHUAE conductor size
PAECEIIEE A/C D/C AWG mm? FSHEE
5 12A 630V 630V 16 1.5
8 5A 60V 60V 16 1.5
10 5A 60V 60V 16 1.5
12 2A/5A 30v 250V 16 1.5
14 TA/5A 30v 250V 26/22 1.0/1.3
16 TA/5A 30v 250V 26/22 1.0/1.3
18 TA/5A 30v 250V 26/22 1.0/1.3

M14- ?ﬁﬁiﬁ@{ﬁ =] M14 PCB Pins ArraNGEMENT
& 18P

Pins

2.65

AL
Arrangement

3.43

75

3.

VL

) 10

SRETESREIAE, RN EERMERRE WS,

CAZN (56



M1 6%;!, M16 SEriE

FRAFEIEC 61076-2-106-2012 AISGHRIE

Products comply with IEC 61076-2-106-2012 AISG Standard
REPEREES360°2 ik

Most connectors are excellent for full shielding at 360 degrees

ik A%, FBHFEAN (KREJESES)

Plug: assembly, Overmolded cable type (length can be customized at will)

TREE: IRATRZE. RE

LR, BEIARPCBIRT

Socket: Front Mount Solder Type, Back Mount Solder Type and PCB board type

Pk : IP65. IP67

Waterproof grade: IP65, IP67

PRI 2~241%
Pins Number: 2-24 pins

?-:z O > 3%
A= ; ProbucT PARAMETERS

AR

Shell material

LS

Sealing material

gL

Contact material

BRI

Insulator material

RREL AR

Molding material

57| Caznlink.com

B/ HAEER/ERER

Brass/Zinc alloy nickel/Brass nickel plated

HER R /R

Epoxy resin/Rubber

B/ RS E

Brass/Phosphorus copper gold-plated

PA66

TPU/PVC

$EfRER T
Contact impedance
BRI E
Durability
EBLTEE
wiring range
ERRE

Applicable temperature

s5mQ
ESOO;x(Cycles)
PG7:4~6mm; PG9:6~8mm

-25°C ~ +80°C



7= BIR/KES RYHE

ProbucT FIGURE Name/Type No. DIMENSIONS

EXAESBARIENL 2

~55 [te}
M16 Straight Female Metal Assembled Plug (Solder) | °é’
S
M16 - S 19 - GWA P9 u’\ii =
o™
|
R e —|©
#M:23456|  |p7pG7(EE) o —
781214 16| |pg:pag =
19 24 P13:PG13.5
ASATAT4A SW16
BERXEESRALENEL et . .
M16 Straight Male Metal Assembled Plug (Solder) | °s°
- s

M16 - P 19 - GWA P9

318
M16X0.75

EXAESBARIENL ot

M16 Straight Female Metal Assembled Plug (Solder)

M16 -S19 - GWA P9 - PL

s He:
BH23456]  |p7:pG7(HsE
781214 16| |pg:pgy

19 24

AISA 7TAT4A

$18.5
M16X0.75
2
o
N
Max ©8.5

%)
=
o

BERX R EEARLEL gt

M16 Straight Male Metal Assembled Plug (Sclder) I

M16 - P 19 - GWA P9 - PL

#i:23456 P7:PG7 ()
78121416 P9:PGY
19 24
AISA 7TA14A

318
M16X0.75
2
o))
oo
‘ Max 28.5

%)
=
o

BRARBRARLIEL got 2

M16 Straight Female Assembled Plug (Solder, Plastic tube)

M16 - S 19 - PWA 6D5 - PT

®Hl:23456
78121416
19 24

AISA 7TAT4A

218
‘ M16x0.75 ‘
.
|
o
d

Max.96.5

~70.8

BR R BRARLIEL gat 2

M16 Straight Male Assembled Plug (Solder, Plastic tube)

M16 - P 19 - PWA 6D5 - PT

s18
116X0.75
9135

hE:
#i:23456
78121416
19 24
A:SATA14A

Max.86.5

3E§ﬁ§illjlnshielded
R/ Shielded Eiﬁ;‘LgﬁﬁEﬂ?ﬁ%

M16 Straight Female Overmolded Plug ‘

\
|

M16-S19-MWA-1PV-S

/Eé& HR(M): |4 SRR
BM:23456( (11M PVIPVC  |==:3ER
78121416/ (2.5:2.5M |PU:PU

19 24 . TF:X |
AISATAT4A PE-PE

219
M16x0.75

\
|




7= BIR/XES R~HE

PRODUCT FIGURE Name/Type No. DIMENSIONS
JER#FR/Unshielded
R#EL/Shielded Eﬁﬁgﬂﬂzﬂ?ﬁ% o5
M16 Straight Male Overmolded Plug | - ‘
M16-P19-MWA-1PV-S g’ ‘
Sk
Bes SEM): (B |SER s|S @ )
BH:23456( [1aM  (pvipve |=ERRR -
781214 16| (2.5:2.5M [pu:PU =) |
19 24 e TR | -
ASATAT4A PE:PE
3Eﬁﬁ%ﬂll}nshielded 43.5 |
PRI/ Shielded %:it}l‘ggngyﬁ% —
M16 Angled Female Overmolded Plug 9
M16-S19-MWD-1PV-5S S
=
Ees HEM): % |SFR
BM:23456| |1qM  |pvPvC | =3RRI
:982142 1416 |2.5:2.5M PUIPU —
A:SATAT4A li??m “M16x0.75‘ ‘
19
JER R/ Unshielded
R#ER/Shielded %ﬁﬁﬂﬁii’ﬁ%

M16 Angled Male Overmolded Plug

M16-P19-MWD-1PV-S

/Eé& HR(M): |41 SRR
BM:23456( (11M PVIPVC  |=:3ER
78121416/ (2.5:2.5M |PU:PU

19 24 : TFo) ‘
A:5A 7A T4A PE-PE M16x0.75
@19
RAT R BURE /2450 277 M18/0.75 FARY
M16 Male Front Mount Socket (Solder, Screw M18%0.75) - - holeopening size
ol — n
~lo I -
M16- P 19 - GWB M18 olg| ) od
S X =
© = @ IS
FEg =
#4:23456 = =t
78121416
19 24
A:SA7A 14A L‘ 17.1

WRBTR IS BB it 257 M18°0.75 -
M16 Male Front Mount Socket (PCB, Screw M18*0.75) B — hole opening s

reY ol ~ !
™~ ™ -
M16 - P19 - GPB M18 Qe g <
|0 00 iy
RER = =
#i:23456 = =1
78121416
19 24
A:5A7A 14A 17 17.1

RAT R FLEMREE 5= 2FM18°075 AR

M16 Female Front Mount Socket (Solder, Screw M18*0.75) T _ ’ Jsize

I — —
~ ™~ —
M16-S19 - GWB M18 2le % g >
a6 o s
i = =
4123456 = =
781214 16 —_—
19 24
ASATA14A 13 17.1
MR AT R 2L B BE fEimst 27 M18°0.75 RART
M16 Female Front Mount Socket (PCB, Screw M18%0.75) —_— _ hole opening sizi
0l 0
™ = —
M16 -S 19 - GPB M18 Qg = 2 e
1T HE =8 s
S o
#10:23456 = =
78121416 E—
19 24
A:SA7AT4A 13 17.1

59‘ CAZN



7= BIR/XES R~HE

ProbucT FIGURE Name/Type No. DIMENSIONS

R JE R HE BUREE 12420 s25M18°0.75 FARY
M16 Male Back Mount Socket (Solder, Screw M18*0.75) hole opening size

[Te] NTSY|
™~ -
M16 - P 19 - GWF M18 sle o
ol © s
Res =
##1:23456 5=
781214 16
19 24
ASATAT4A 17.1

RIS R 2 B EE mi=t 25 M180.75

M16 Male Back Mount Socket (PCB, Screw M18*0.75)

M16 - P 19 - GPF M18

?18.1

M18x0.75
M16X0.75,

RJE REFLEMR R 2=t 25FM18°075 _AARY

M16 Female Back Mount Socket (Solder, Screw M18*0.75) I 7T - gsize

wlol
™~~~ —
M16 - S 19 - GWF M18 Sle % 9 %
w|© s =
T =)=
®Hl:23456 1
78121416
19 24
s -5 71

G R FL B EE mimat 25 M180.75

M16 Female Back Mount Socket (PCB, Screw M18*0.75)

wl ol
™~ E —
- - o -
M16 - S 19 - GPF M18 %S =8 e
© 8 = = Py
EES =
*;2%1:23456 = —
781214 16
19 24
AISA7A14A 13 17.1

T ST BUERE 12450 227,20x20

M16 Male Square Socket (Solder type, Mount Hole 20*20)

M16 - P 19 - GWH

M16X0.75,

®Hl:23456
78121416
19 24

AISA TAT4A

FFFLBIERE 240 223720120

M16 Female Square Socket (Solder type, Mount Hole 20*20)

M16 -S19 - GWH

M16X0.75
918

S — 1
##:23456

78121416

19 24

AISA7A 14A 14.2

COAZN |60



M16-Fh

]
EEJ:EuE:_ M16 Dust Cover

M16 £EELE HZF M16 Metal Dust Cover (Inner screw)

M16 ¥BERBI AL PIZF M16 Plastic Dust Cover (Inner screw)

- HKRER T8RS
Ring inner diameter No.
®3mm M16P-TV5P-3
& 18mm M16P-TV5P-18

M16 ¥BERBH A2 YMEF M16 Plastic Dust Cover (Outer screw)

- FRER iTHS
Ring inner diameter No.
¢ 3mm M16P-TV55-3
& 18mm M16P-TV55-18

M16 B AL E JbZF M16 Metal Dust Cover (Outer screw)

KRER THS
Ring inner diameter No.

& 3mm M16G-TV1P-3

& 18mm M16G-TV1P-18

KRER THS
Ring inner diameter No.

¢ 3mm M16G-TV1S-3

$ 18mm M16G-TV15-18

M 1 6 : EE#F M16 AcCESSORIES

M16 3284R F M16 Nut wrench

FEE/Semicircle:
M16-LUZJ-002

E % /Round style:
M16-LUZJ-001

Fr=t/Slice type:
P08-WR-M16001

M 1 6 ) Tﬂiﬁiﬁ/ﬁﬁ[ M16 PCB Pins ARRANGEMENT

L
pins

R

Male

E
Pins

LA

Female

2P 7P
= Lot
| Tels
14P YA
s 2al o i— o1
P L]
2P 7P
175 __“ 2\
e r@ | 4
| Hele
14P 5A
K3 | ¢ I7 ol A 2y ;
] | Tmedy | e | R | B
77233 ¢(}77 14 B o L ﬂ*?ﬁi}d}(}é* R ZL = m] ‘ 3

61‘(.'&\2[\‘!



M 1 6 ) EEE\,%%SI M16 ELECTRICAL PARAMETERS

18 Male £ T B3, [ Rated voltage ER#AE conductor size FLBY Female
Pins =R . Ratedcurrent 2 ==y} .
Gé%ner);lcod‘mg AE! A-code A/C D/C AWG mm Gé%neétcoding AE A-code
2 2@ ' 7A 250V 32V 20 0.75 ! 2
2 2
(]
3 . ) 7A 250V 32V 20 0.75 @ 9.
3 2 2 3
o O
4 4@91 6A 250V 32V 20 0.75 o o)
4 5 4 7690\ 40905
5 | i 2 g 6A 250V 32V 20 0.75 o o i o o
4 2 2/570 o\
6 | : 5A 250V 32V 20 0.75 00/
4 ]
7 Z‘ﬁ ‘ ‘ 5A 125V 32V 20 0.75
eeet / @é@E
8 3 i 5A 60V 32V 20 0.75 i ©©©©©
(Goo
12 3A 60V 32v 24 0.25 0" 00
> ©00
14 3A 60V 32V 24 0.25
16 3A 60V 32V 24 0.25
000
559%3
19 3A 60V 32V 24 0.25 \O(gé?ooE
24 1A 60V 32V 26 0.14

COAZN

62



M23§§ !I M23 SErIE

FROH(IES): 6. 7. 9. 12, 17, 191 (BiF): 6. 8%
Pins Number: Signal-6 79 12 17 19 pins; Power-6 8 pins

ESREBIRE _fpRE

Two types: Signal and Power

ik ARVSENEH

Plug: assembly, cold-pressure construction

BE: B, BXR. REXEN

Socket: Straight, Angled, cold-pressure construction

2 EREEER360°2 Rk

All connectors are excellent for full shielding at 360 degrees

BiKELR: IP67
Waterproof grade: IP67

?-:z O > 3%
A= ; ProbucT PARAMETERS

AR HEER ERARE <5mQ
Shell material Brass nickel plated Contactimpedance

LAEILIE S HEMBE/1RER RIRIRE 2500, (Cycles)
Sealing material Epoxy resin/Rubber Durability

fwEH R B/ BRES BEEE 6~10mm
Contact material Brass/Phosphorus copper gold-plated Wwiring range

BRI PBT/PA66 ERRE -40°C ~ +125°C
Insulator material Applicable temperature

i ap ot TPU/PVC

Molding material

63| Caznlink.com



7= BIR/KBES R~HE

Probuct FIGURE Name/Type No. DIMENSIONS

M623fESERABESBAZELAENL e .

M623 Signal Straight Female Metal Assembled Plug (Crimp)

26 23,85 ‘

M623 - S 6P - GCA P11

826
M23x1
JAY

$10.8
925

M6235S ERX R ERBARNIEL Fat

M623 Signal Straight Male Metal Assembled Plug (Crimp)

626 23,85

M623 - P 6P - GCAP11

M623fE5 S ER SR IEA R AL mam ~61.5

M623 Signal Straight Mating Male Metal Assembled Plug (Crimp) ‘
1 wwmmw
W\W
s
\HHHUMHH fill

M623{5 5 BB X AR HHL mast ~615

M623 Signal Straight Mating Female Metal Assembled Plug (Crimp)

M623 - P 6P - GCK P11

1O

P:6P 7P 9P 9PP
12P17P
E:6E 7E 9E 9PE
12E77E

I

Hﬂ

M623 - S 6P - GCK P11

HE:

P:6P 7P 9P 9PP
12P17P

E:6E 7E 9E 9PE
12E17E

I

[

\HH‘H‘”\‘\‘ V]
‘I 10

M623{5 5 B FLBMHRE fFist 27.,19.86¢19.8

M623 Signal Straight Female Socket (Crimp, Mount hole 19.8*19.8)

M623 - S 6P - GCH

i

P:6P 7P 9P 9PP
12P17P

E:6E 7E 9E 9PE
12E17E

M623{5 5 BV EH BUREE fFimat 222£719.8019.8

M623 Signal Straight Male Socket (Crimp, Mount hole 19.8*19.8)

M623 - P 6P - GCH

I

P:6P 7P 9P 9PP
12P17P

E:6E 7E 9E 9PE
12E17E

M623(5 S BN FL RV A R U =t 2267019.8019.8

Angled M623 Signal Female Square Assembled Socket (Crimp, Mount hole 19.6'19.8)

M623 - S 6P - GCL

o

P:6P 7P 9P 9PP
12P17P

E:6E 7E 9E 9PE
12E77E




BIR/IKES

Name/Type No.

@

ProbucT FIGURE

RYE

DIMENSIONS

M623{5 SZ T S RUA R TUIRRE st 22£9119.8019.8
Angled M623 Signal Male Square Assembled Socket (Crimp, Mount hole 19.819.8)

M623 - P 6P - GCL

M23X1

g

MO23BRER AL B ERAZRLEL mast

~80
M923 Power Straight Female Metal Assembled Plug (Crimp) 947
M923 -S56-GCA 15 )
o X -
g R(
sl =
MO23EBREI T T MR fer 2291986198 2./
M923 Power Straight Male Socket (Crimp, Mount hole 19.8*19.8) ‘ ‘
A/Rlb

M923 - P 6 - GCH

68

M23X1

M923 B RE N H B A S U Friz=t 22267,19.8019.8

Angled M923 Power Male Square Assembled Socket (Crimp, Mount hole 19.819.8)

M923 - P 6 - GCL

68

M23X1

25.6

M23ERBH A= ner

M23 Metal dust cover (inner screw)

M23-TV1P-3

65

CAZN



M623 'f%'%g! EE,El,%%& M623 SIGNAL TYPE ELECTRICAL PARAMETERS

FEBIR

B0 7E B8/ Rated voltage

Ratedcurrent A/C D/C

E'r{zﬁﬂ.*% Conductor size
AWG mm?

6 20A 300V 300V 14 2.5

7 20A 300V 300V 14 2.5

9 8A 150V 150V 16 1.5
9P(8+1) 8A/20A 300V 150V 16/14 1.5/2.5

12 8A 150V 150V 18 1

17 8A 150V 150V 18 1

M623 . %%?ﬁ%‘l’%%&% M623 SicNAL CoNTACT PINS PARAMETER TABLE

M623 $IEIGET Riveting pressure pin

EMER: o1

Contact diameter: ¢1

R BES

Material: Brass with gold plating

0
#1-0.02

925
F\ pne
LI

Wi

92.5

[ #1280
0
8

M623 I ET At Riveted Male Pin

(Wigr%*gil‘ze) (Mi?e\ﬁfﬁ c?de)
0.08-0.5mm? AWG 28-22 A120101-0210
0.5-1.0mm? AWG 20-17 A120101-0127
1.0-1.5mm? AWG 17-16 A120101-0126

M623 #l =X Bt Riveted Female Pin

(Wigr%*gil‘ze) (Mi?e\ﬁfﬁ c?de)
0.08-0.5mm? AWG 28-22 A120102-0222
0.5-1.0mm? AWG 20-17 A120102-0149
1.0-1.5mm? AWG 17-16 A120102-0148

ERER: ¢2

Contact diameter: ¢2

M623 ) [EEEt Riveting pressure pin

wE: ES

Material: Brass with gold plating -

0
o)
Y

$2-0.02

+0.1
0

+0.1
$2.3 0 2.3

0
$2.2-0.05
0]
$3-0.02

Q
—0.1

3.5

NY
Ll

13.5-81

M623 i E A%t Riveted Male Pin

(Wire size) (Material code)
0.75-2.5mm? AWG 18-13 A120101-0125

M623 PN ET BT Riveted Female Pin

2 MR IR
(Wire size) (Material code)
0.75-2.5mm? AWG 18-13 A120102-0147

OAZN

66



M923 Eﬂ,fﬁﬂ EE,El,%;& M923 Power suppLY TYPE ELECTRICAL PARAMETERS

7'5_;*55( SHm % XE B3 JE Rated voltage

Pins Ratedcurrent A/C D/C AWG mm?2 Female
6 30A 630V 630V 14 2.5
8 9A/20A 250V/630V 250V/630V 18/14 1/2.5

M923 . EE,;EE%‘I’%;&%E M923 Power CoNTACT PiNs PARAMETER TABLE

M923 #jIE1H%t Riveting pressure pin
EMER: o1 mH: BES

Contact diameter: ¢1 Material: Brass with gold plating
g

2 3 M923 P EIL AT Riveted Male Pin
: %5 PR
o e N | (Wire size) (Material code)
s 8 Zi o=t
6 0.25-1.0mm? AWG 23-17 A120101-0235
21

M923 i F= X B4t Riveted Female Pin

| 271 YHAE
g i i (Wire size) (Material code)

5.7 0.25-1.0mm?

AWG 23-17 A120102-0238

M923 #IEGEET Riveting pressure pin
EMER: ¢2 MR EES

Contact diameter: ¢2 Material: Brass with gold plating

M923 i =A%t Riveted Male Pin
< o "
B d g5 ) YRR
© (Wire size) (Material code)
E } V2 } 1.0-2.5mm? AWG 18-13 A120101-0236
13
g ) 25-40mm?  AWG13-12 -
s 4
€ § E M923 40 EL B £t Riveted Female Pin
i o IO 240 YA
g ‘ 7 (wire size) (Material code)
7.6
2558, 1.0-2.5mm? AWG 18-13 A120102-0239
2.5-4.0mm? AWG 13-12 -
R\
M23- ;ﬁéﬁmx M23 WiRe DEFINITION
&N 4 6 8 9 0 4 6
615 WH
1.5mm? | 1.5mm? | 1.5mm? | 1.5mm? | 1.5mm? | 1.5mm?
81t
1.5mm? | 1.5mm? | 1.5mm? | 1.5mm? |0.75mm? | 0.75mm?| 0.75mm? 0.75mm?
1275 P R B B GY |JMRFZEl WH N B
0.25mm? | 0.25mm? | 0.25mm? | 0.25mm? | 0.25mm? | 0.25mm? | 0.25mm? | 0.25mm? 0.5mm? 0.5mm?
. - B o WH .
1715 YE N B N 5 RD RD B GY AEHFE
0.14mm? | 0.14mm? | 0.14mm? 0.14mm? 0.5mm? | 0.22mm? [ 0.22mm? | 0.5mm? | 0.14mm? | 0.14mm? | 0.14mm? | 0.14mm? | 0.22mm? | 0.22mm?

REENIREIARE, RN EE EERRT WS,

Wwiring definition according to conventional standards, if according to the agreement or other please contact our sales.

67, CAZN




7 / 8%; .II 7/8 SERIE

FRAEIEC 61076-2-101 TAk4.0t/MY, NEMA20004RHE
Products comply with IEC 61076-2-101 Industry 4.0 Agreement NEMA2000 standard

ik Ax, FBHFERN (KEUESES)

Plug: assembly, Overmolded cable type (length can be customized at will)

THEE: RAIRE. RERRIFLKRPCBRT

Socket: Front Mount Solder Type, Back Mount Solder Type and PCB board type

FTERTHIREES

Mainly used in power connectors
FERISHL: 3~6it

Pins Number: 3-6 pins

Pk : IP65. IP67

Waterproof grade: Ip65. IP67

?-:z O > 3%
A= éz- ProbucT PARAMETERS

AR HER/ HEEER/PA+GF EALFRR

Shell material Brass nickel-plated/Zinc alloy nickel-plated/PA-GF Contactimpedance
LAEIEIE S HEMBE /1R B RIRIRE

Sealing material Epoxy resin/Rubber Durability
fwEHHR i/ HRES B

Contact material Brass/Phosphorus copper gold-plated Insulation impedance
BRI PA+GF/TPU ERRE

Insulator material

AL v g &Y TPU/PVC

Molding material

Applicable temperature

<5mQ
ESOO;x(Cycles)
=100mQ

-25°C ~ +80°C

Caznlink.com |68



7= BIR/KES RYHE

ProbucT FIGURE Name/Type No. DIMENSIONS

7/8ER A BB RA R s

7/8 Straight Female Plastic Assembled Plug (Screw)

7/8-S6-PLAP13

\ Max.913

He:
P13:PGI35
P9: PGO(f&ER)

27
7/8 —1BUNF

7/8ER B IR A S TRk szer=t

7/8 Straight Male Plastic Assembled Plug (Screw)
7/8-P6-PLAP13 L
[ 5 2
T S
§;.3'ng9%;) gﬁ

7/8ERABRBRAR AL g

7/8 Angled Female Plastic Assembled Plug (Screw)

227
7/8"—16UNF

7/8-S6-PLDP13

3456 |P13:PGI35
P9: PGO(f&ER)

7/8B R B IR A e AR szer=t

7/8 Angled Male Plastic Assembled Plug (Screw)

827

7/8-P6-PLDP13

~59

3456 P13:PG13.5

P9: PGO(ER)
7/8E AL B A
7/8 Straight Female Overmolded Plug ]
7/8-S6-MWA-1PV v
B(v): [t g 3 H 8
3456 1M PV:PVC N
2.5:2.5M |PU:PU i
e |TEEER]
PE:PE
7/8E R EH B R B AR SL 57.5
7/8 Straight Male Overmolded Plug .
7/8-P6-MWA-1PV =1
T § 5 [ S
PV:PVC k
PU:PU 1 |
TF |
PE:PE
7/8E T FLE AL B R SL

7/8 Angled Female Overmolded Plug

7/8-S6-MWD - 1PV

B (M) b
3456 1M PV:PVC

2.5:2.5M |PU:PU
- | TF: k2|
PE:PE 7/8-16UNF
925

69| OAZN



7= BIR/XES RYHE

ProbucT FIGURE Name/Type No. DIMENSIONS

7/8BE B A B Sk

7/8 Angled Male Overmolded Plug

7/8-P6-MWD - 1PV

B LR(M): (Lo

3456 1M PV:PVC
2.5:2.5M [PU:PU

. | TF: k2|

PE:PE

7/ SIRATRIEETBURE 15450 4257PG13 5

7/8 Male Front Mount Socket (Solder, Screw PG13.5) FHRY
7/8-P6-GWBP13 £
ol ¥ <
% : (gf ‘ 8
. :
~
’\7
19.3
78R AT R AT B RE 24050 425PG13.5
7/8 Female Front Mount Socket (Solder, Screw PG13.5) FILRY
7/8-S6-GWBP13 =
<| 3 ©
— Nl — o
~
~
19.3
78R /2 RAET BUIHRE 12450 4257/8-16UHF
7/8 Male Back Mount Socket (Solder, Screw 7/8-16UHF) FHRY
7/8-P5-GWF 7v8 B
3 N
GBS - o
: °
(o]
~
’\,
20.1

718 5 R I FLBMERE 12450 2FM26x1.5

7/8 Female Back Mount Socket (Solder, Screw M26*1.5)

7/8-S6 - GWF M26

M26X1.5
7/8 —16UNF

7/8 TEUHSL 7/8-7/8 PSS ‘
7/8 T-Type Adapter (7/8-7/8, PSS)

925
7/8-16UNF
| —

7/8-16UNF
825

7/8-5S5-PS5-TSCNY

3456

48

73

7/8 TEEHL 7/8-M12 PSSE ) %4
7/8 T-Type Adapter (7/8-M12, PSS) | %* o |
7/8-S5-7V8PS5-TSCNY q = :] :|\f E

345

CAZN |70



7/ 8 EE,E‘,%;& 7/8 ELECTRICAL PARAMETERS

Ratedcurrent

£ 7E B8 JE Rated voltage

A/C

D/C

E'rﬁiﬂ.*% Conductor size

AWG

mm?

Female

3 ‘ 13A
L]

300V 300V 18 1

o, O

4 X 9A 300V 300V 18 1 S o

090

2 4

5 9A 300V 300V 20 0.5 o o
]

6 9A 300V 300V 20 0 Q g o

* 3 020

7/8;%2%}33)\( 7/8 WIRe DEFINITION

REENIREIARE, MR EE EERRT WS,

Wwiring definition according to conventional standards, if according to the agreement or other please contact our sales.

71, OANZN




mEEEkE PAEER
ERBSETRPEENLRINERERN, ATHBSTR. SFNEDTHREURENS
BHEERASE, RIELES MUKBEABRBORT, 8EHEPRESRIER0ES,
B EBRE, FAES" OES, HEPRUSBTFADTULNLBNF=SNBRSR, N5
SR, ERNE, SR AHNENRE.

RN ERBSERAF
ik SRYIHREX COREFES LI 25 KL T FHAK

BN B XD S H O M E L A E th 2 A7V FE 314K
B3%: 0755 - 2900 5959
f£E: 0755 - 2900 5530
B848 . sales@caznlink.com

WBLET RFAFREE, FHIDATE: htto://www.caznlinkcom |



